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משוואות  טריגונומטריות
· פתירת  משוואה  בהסתמך  על  הזהויות:    
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משוואות
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sin5x + sinx = sin3x
נפתח  את  אגף  שמאל  לפי  זהות  מספר  ___: 
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נצמצם  את  שני  האגפים  ב 2:  
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האם  ניתן  לצמצם  את  שני   האגפים  ב:  
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3. cos2x + cos4x = cosx 
נפתח  את  אגף  שמאל  לפי  זהות  מספר  ___: 
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__ ______ _____(-x) = ________               
  = 0 __ ______ _____ - ________    (   
                                       __ ______(2 ______ - 1) = _____ 
_____ = 0                                                                __ ______ - __ = ____
x2  = ______                                                                            _______ = ½
                                        _______ = (____ + ______
_______ = (____ + ______

 
· תשובות:  1. (300 + 1800k,  600k   2. 300 + 1200k,  3600k    3.   (200 + 1200k ,
 900 + 1800k
עבודה  נעימה























































































מתכונות  הסינוס:


sin(-x) = -sinx
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מתכונות  הקוסינוס:


cos(-x) = cosx
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